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> restart;

> pmi=int{sin(theta® A2, x=0..P1):
~coS(7T 9) sin{rr 8) + 1O

20

nnt =

; Frex*t+{exp(t)+2%cos(t))} /(2%Pi+3)*x-cos(t);
 (e'+ 2 cos(h) x e
2m+ 3

F:=xt+ os(h)

> Fm:=1/nm*int{(F*sin(theta*x) ,x=0..P1);
Fm = ! (2 (-2 8 cos(f) ™~ 3 0 cos(t) + 2 t1rsin(rrg)
(-cos(rr @) sin(rr @) + 116) 0 (2 1T+ 3)

+ 3 tsin(rr o) + 2 cos{d sin{re) - 2 t?‘rz 0 cos{1r9) - 3 t 176 cos(1T B)
- elocos(m 8) 17 + elsin(rre) + 36 cos(t) cos(1T 9)))

> aZi=simplify{subs(sin(theta*Pi)=-3/2%theta*cos(theta*Pi),Fm});

2 2 (2 t 17 coS(TT 8) + 2 cos(f) + 3 t cos(1r 8) + e cos(1T 6))
al:= -

8 (3 cos(rmr f;-))2 + 2 1)
> #There are the coefficents Fm
ad:=collect(a2,cos(Pi*theta)};

3. 2(@tm+ 34 e cos(ime) + 2 cos(h)

0 (3 cos(Tr 9)2 +2m

> Go:=1/mm*int{(-x/(2*Pi+3)*sin{theta*Pi) ,x=0..P1);
o sin(7r ) 7°

Gm:= -
{(-cos(1r 8) sin(rr 0) + 110} (2 7T+ 3)

> #These are the coefficents for Gm-gm
simplify(subs(sin(theta*Pi)=-3/2%theta*cos (theta*Pi),CGm));

3 9 cos(1r 8) -

(3 cos( ) + 2710 (2 1T+ 3)

.L}



